2017 (S) Roll No:
INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.,

SECTION-I
2, Attempt any eight parts, §x2=16
(i) Express the area “A” of a circle as a function of its circumference “C”.

(i) Find fog(x) if f(x)=2x+1, g{x}=x_3_1

; ; sin ax
(i) Evaluate limit ———,
=0 sin by

(iv)  Find the derivative of the function f(x)=¢ by definition,

(v}  Differentiate wrt. ‘x’  (x —5) (3 - x)
(vi) Find % if y=sinh™ (ax + b)

(vil) Find f'(x) if flx)=tnle” +e)
(vili) Define increasing and decreasing functions,

(ix) Find f'(x) il f(x)=xyinx

(x)  Find i ¥ = En (9-x%)
dx

35 el A it
(xi) Find o if y=g3snh {ZJ

= N )
(xii) Find s if x=(@-5inf),y=gcosd

3 Attempt any cight parts. 8x2=16
(i) Using differential find 2 when % — fnx = énc
dy x
(i)  Evaluate | 2 o
Vx’

{iii)  Define differential equation.

. [x
(iv)  Evaluate J-Wtilx cx
VX
{v}  Evaluate [ I dx
Jx+3

{vi) FEvaluate I tan’ x sec x dx

R'_,r’
!

Il
{vii) Evaluate j cos” 8 d0
n

(viil) Solve the differential equation 2 E:—r -2y=1 x20y>0
X &

(ix)  Find the area above the x—axis, bounded by the curve 3* =3 -x fromx=-1 to x= 2
(%) Evaluate I Tan"' x dx

(xi)  Define objective function.

(xii) Define feasible region.
P.T.O.




4. Attempt any nine parts. 9x2=18
(i) Find k such that 4 (=L #,), 8(3, 2) and C (7, 3) are collincar.
(i1) Find an equation of line through the points (=2, 1) and (6, —4}.
(iiiy  Find an equation of the horizontal line through (7, -9).
(1v) Find the distance from the point P(6, = 1) 1o the line 6x -4y +9=10
(v) Find the angle from the line with slope u% 1o the line with slope ?;",;
(vi) Find an equation of the circle with ends of a diameterat (-3, 2) and (5, - 6)
(vii)  Find the focus and vertex of the parabola x* =5y
(viii) Define the central conics.
(ix)  Find an equation of the ellipse with foci (+ 3,0) and minor axis of length 10,
(%) Deline equal vectors.
{xi) Find the direction cosines for the vector v =3 - j + 2k
(xii)  Caleulate the projection of & along b whena=i-& , b= j+ &
(xiii)  Find the value ol 3/ i
SECTION-II
NOTE: - Attempt any three questions, 3 10=30
b = o J
5.(a) Evaluate Lim Lan—ﬁ - ot
f=0  gin' O
: | 3
(b} Differentiate w.r.t. x. Sec I., i
x —1)
6.(a) Ewvaluate the integral _[_H—l dx.
1:{!‘ -x
(b} Find an equation of the line through the intersection of the lines x— y—4 =0 and
7x + p+20=0 and parallel 1o line 6x + p —14=10
7. () Find the area between the curve y = x (x—1) (x +1) and the x- axis.
(b) Graph the feasible region of the system of linear inequalitics and find the corner points in each case.
2x+ 3y <18
x+4dy=12
Ix + p=12
x20, yeld
8. (a) Write an equation of the circle that passes through the points A4(4,3), 8(-4, 3), C(8 —3).
(b) Find the angle between the vectors ¥ =2i — j+ g and vy=- G g
9.(s) Find the centre, foci, eccentricity, vertices and equations of directrices of % a "i;l— =1
(b) Find area of the paraliclogram whose vertices are P(0, 0, 0), (-1, 2. 4), R(2, -1, 4) and 5(1. 1, 8,).

(2)

14-2017S)H00  (MULTAN)




Paper Code . 2017 (8) Roll No:

Number: 4191 INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four chuices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that civele in front of that question number, Use marker or pen te fill the circles.
Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as manyv questions
as given in objective type question paper and leave others blank, No credit will be awarded in casc

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1) 2 Cosh x = (A)e* +&* BYe' —e™ (C) e —e™ (D) & 47
(2) -'.fmél = = (A) O (B) 1 (C) e (D) w
S LI
(3) I f(x}=a", then ()= (A) xa®™' (B && (O a'fna (D) a'inx
o - S : ] b= WO | 1
(4) vX @ E=ais- (A) —= (B) 2+/a ) = (D)y-——
dx 2Va Va 2 Va
(5) fx (Uo:acx_] = (A) :x (Sinx) (B) i-{ﬁ'ﬂr:‘x] (C) %{Cﬂu} (D) %(I’fus-:cx Corx)
(6) f— {L’?""'")= (A) ™ (B) &™* Sec’x (C) ™ fnSec’x (D) ™" fntanx
A of
(Y If y=e™ then i}r = (A) ge”” (B) e ™" O ae™ (D)-ge™
() je“'"’” Cosx dx = (A)e™ +¢ (B) inSinx+¢ (C) fnCosx +¢c (D) ™ +¢
& _ |','.'It:I _ J‘I . T ) i !
(9) j'a cxdx = M-t @) —+c @ +e  D)T +e
(10) | Cosxdx= (A) -1 (B) 0 (©) 1 ™)
0
(11} —1—5';=‘-ﬁ‘= A)tan" x+e (B Cotr'x+c (C)Cos™' x+¢ (D)Sin' x+¢
Fx?
(12) The slope of 4 line with inclination 90° is:- Ay 0 (B) % (C) 1 (D) Undelined
(13)  The distance of point {a 2 E?J from ([Jl ; D] is:-
(A) Ja—b (B) Ja + b (C) 1,“:.:1 +b* (D) ,jaﬁ ~
(14)  The slope of line through the points (-2, 4), (5.11) is:- (A)0 Byl (€2 (D) 3
(15)  Equation of line x —axis is:- (A)x=0 B)y=0 Clx=a (D) y=a
(16)  {3.2) is in the solution of inequality:-
(A) x + y<2 (B) 3x = 5p>7 (C) 3x+5y<7 (D) 3x — Ty=1
(17)  The centre of the circle (x — 1) + (3 + 3 =3 s
(A) (=1,-3) (B) (-1, 3) & 0,-3 (D) (1.3)
(18)  The line through the foci of hyperbola is called:-
(A) Major axis (B) Conjugate axis  (C) Transverse axis (D) Minor axis
{19} 18 & unit vector.
Ay [1,1,0] @) [0, 1,1] (€ 1,0.1] (D) [, 0, 0]
(20)  Ifthree vectors @, b and ¢ arecoplanarthen a.bxc= (A) -1 (B)0 (0)1 (D)2
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Paper Code 2017 (8) Roll No:
Number: 4193 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20
Note: You bave four choices for each objective type question as A, B, C and D. The choice which you
think is eorrect, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many guestions
as given in objective type question paper and leave others blank, No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,
().No.1

(1) (3.2) isinthe solution of inequality:-

(A) x = y< 2 (B) 3x + 5y 7 {(C) 3x + 5y« 7 (D) 3x = Ty>3
(2)  The centre of the eircle (x — 1) + (¥ + 3 =3 is:-

(A) (-1, -3) (B) (-1, 3) (€) (1.-3) (D) (1,3
{3}  The line through the foci of hyperbola is called:-

{A) Mujor axis (1) Conjugate axis  (C) Transverse axis (D)) Minor axis
{(4) ____isaunit vector.
(o i,1,0] (B) [0,1.1] (Cy [1,0,1] (D) 1.0, 0]
(3)  Mthreeveetors a, b and ¢ arecoplanarthen a. bxe¢ = (A) -1 (B0 (11 (D)2
(6)  2Coshi= (A e" 4+ (B)et - (Qe® -2 (D) e+
(7 Limie = = (A) O (B) 1 (C) e D) =
[, X
(8)  If fx)=a", then f'(x)= A)yxa™"  (B)y @ (C) a"fna (D} afnx
- = : l - w : l
9) —— % G Y=g (A) — (B) 2+va (C) — (D) - =
i x 2 Ja N 2 \a
A 1 ) i s i o \ il ;
(1 —|] = = [A) — (Sinx) (B) —( Secx) (C) —(Cor x D) —(Cosecx Corx )
Bl ”os::r.:x_,l WX :F.\:{ iz} () d.r{ H dx " 2 e
'ﬁl T s T 4 Fone o 1 - v 1. Tanx ¢
(11} = e ]= (A) e (B) ¢ Sec'x (C) ™" fnSec”x (D) ¢ £y tanx
X
(12 I y=¢e"* then ? = (A) a e (B) e (Cra®e™ (B)—ge™
dy
(13) je.s'm.: Cosrdrx= (A) ™ +¢ (B) faSinx ¢ (C) tnCosx+c (D) ™ +¢
(14) Ig" Xdx= (A) s (B) '?_ +e (C)a* +o [D}% +c
Ert fag g
(15) | Cosx d = (A) -1 B) 0 (C) ] Dy J
1_.
(16) |- |_l — iy = Altan"x+¢ BYCor'x+e (OCH" x+¢c () SN x+¢
¥ +x°
; = b i ; 1 ¥ :
(17)  The slope of a line with inclination 90 1s:- (A0  (B) — (C) 1 (D} Undefined
33
(18)  The distance af point (g . b} from [0, 0) is:-
(A} ya—b (B) Ja+& (€) Ja + b’ (D) ofa* = b
(193 The slope of line through the points (= 2, 4), (5, 11) is:- (A) @ (By L ({Cy2 (D) 3
(20)  Fguation of line x —axis is:- (A)x =0 (B) p=1 (£} ¥x=w () y=n
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"Paper Code ‘ 2017 (8) Roll No:
| Nambers 4195 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each shjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the cireles.
Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as many guestions
as given in abjective lype question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.Na.l

(1) J 3 de = M tan'x+¢  (B)Cor'x+e¢ () Cos' x+e (D) Sin' x+e
box*
{2)  The slope of a line with inclination 90" is:- (A) 0 (B) 3 (C) 1 (D) Undefined
Ay

(3)  The distance of point l:a_.h] fram (G, 0) is:-

(A) a—b (B) ya+b (C) ya™ + & (D) yu' =&
(4)  Theslope of line through the points (=2 .4}, (5, Ii} is:- nNo Bl (¢ 2 (D) 3
(5)  Equationof line x —axis is:- MWr=0 @ y=0 (Os=a o =t

(6} (3,2) isin the solution of inequality:-
(A) x+ p<2 (B) 3x + 5p=7 (C) Ix+5y<7 (D) 3z~ Ty»3

(7} The centre of the cirele {(x = 1)" + (3 +3)* =3 is-

(A) (-1,-3) (B) {-1.3) (€ (L, -3) (D (1.3)
(8)  The line through the foei of hyperbola is called:-
{A)} Major axis (B) Conjugate axis  (C) Transverse axis (D) Minor axis
(9] is a unit vector.
(A1 (1, 1,0] (B) [0, 1, 1] (€ 1, 0,1] (1,0, 0]
(1) If three vectors @, & and ¢ are coplanar then @ . hx e = (4) =1 (B0 (C)1 (D)2
(1) 2 Coshx= (A)e® +¢* (B)e'—e* (O™ —e™ (e +¢ ¥°
. ] .
(12)  Limit T (A} 0 (B) 1 (C) e (D) =
e X
(13) If Flx)=ua" ., then Fi{x)= (A) xa*~' (B) o (C) a“tna (1)) a“inx
= » 1
iy 2l @ meaie W—" - (i (C) —f_— =
dx 2 w2 2 Na
d [ | d i i - -
15) — 4 A Sinx) (B} —|8ecx) {(C) —(Cotx )} (D) —(Cusecx Cot x
W ax I._CL}IS{,‘EX] ¢ Jd:u S } o dx{ : } l efx“ } dx{ N 'I
a Tam x| Tay 2 § TS ; mzn 2 s »
(16) d—lle b= (A) ™ (B} & See®x (O) ™" &nSers (D) e £n lan x
x
T dj" - =& ; 173 : rr =it =33
(17) If y =& then e {(A) ue (1) e (Cla’ e (L) —ae
I
(18] J-e”"“ Cosxdx—= (A) e™* +¢ (B) tnSinx+e  (C) tnCosx+¢ (D)™ —¢
: at a” | o
1y " xdx= A -+¢ (B +¢ (C)a' +¢ (D)—+¢
U J‘t ") £ni ol o 2 fna 2
2 i
(20) [ Cosxex = (AY =1 (B) D (C) 1 (D) 4
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Paper Code 2017 (8S) Roll No-
Number: 4197 |  INTERMEDIATE PART-TI (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question a3 A, B, C and D. The choice which you
think is correct, fill that cir¢le in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many guestions

as given in objective type question paper and leave others blank. Na eredit will be awarded in case
BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE FAPER.

Q.No.1
(1) ‘ri [.ﬂ""”}= (A) @™ (B) &™F Seclx (C) @™ fnSec’x (D) e™* fntanx
gax
{(2) If ypy=ga" then % = (A) ae™ (B) e ™" (Chae™ (D)-age™
Gy

(3) JL"?”': Cosxdx= (A) e +¢ (B) tnSinx+c¢ (C) fnCosx+c (D)™ 4+ ¢
@) Je.xdx= I AMT Nl O L TRV s

Eri 2ing 2
(5) [ Cosxadr= (A) =1 (B) 0 © 1 Y

b
(6) ]‘— l : T dx = (A)tan ' x + ¢ (B)Coi'x+¢ (C)Cos™ x+c (D) Sin™ xte
+ K
, 1 i
(70 The slope of a line with inclination 90° is:- (A0 (B) = (C)y 1 (D) Undefined
%3
(%) I'ne distance of point (e . &) from (0, 0) is:-
(A) Ja—b (B) ya + b (©) Ja' + b (D) ya' - b
(9)  The slope of line through the points (- 2,4),(5.11) is= (A 0 (B) 1 (C) 2 (D) 3
(10)  Fquation of line 10 x —axis is- (A)z=0 B)y=0 (Clxz=a (Dyv=a
(11 (3,2) isin the solution of inequality:-
(A x + p<2 (By 3x + 53> 7 (C) 3x+5Sp=<7 (D) 3x—Ty=3

(12)  The centre of the circle (x — 1) + (y + 3)3 =3 is-

(A) (=1,-3) (B) (-1, 3) ©0,-3) (M (1,3)
(13)  The line through the toci of hyperbola is called:-

{A) Major axis (B) Conjugate axis  (C) Transverse axis (D) Minor axis
(14) is & unit vector.

(A i1, 0] By [0.1,1] (1, 0.1] ) [1, 0. 0]
(15) If three vectors a . b and ¢ arecoplanarthen a.bhxc= (A) -1 (B0 (C1 (D)2
(16) 2Cashx= (A)e" +e* B)ef—e* (O —e™ D e +e™
(17 Limis Sl > (A) O (B) 1 (C) e (D) w©

r— _[
(18) If f{x)=a" ., then [f'(x)= (AYza*™' (B) & (C) a’ina (D) a“tnx

- = 1 |

(19 . Ny a x=ais- (A) (B) 24a (€} —= @=7F

dx 2 v N 3 Ja

" O d i d : d T
(2 =) = A) -2 (sinx) (B) =(Secx) (O = (Corx) () —(Cosecx Cotx)
(€0) drhCuse::xJ ( }dx{ ) jdx{ ) dx dx



BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,

MULTAN
OBIECTIVE KEY FOR INTER II'PART'JHII Examination, 2017,
Name of Subject "1 4 74 Session __ 2¢li — 20/ 7

Q. |P“P“ Paper | Paper | Paper
Nos, | Code | Code | Code | Code

4148)| 4143 91955197

A | B |8 |8
& IR | e | Db |p
3. o & 5 A
L A (¥ |8 |8
= |A |8 |8 |
. [ glA B |8 |
3 b | B |c D
> A e g |€
9. 0 x| B &
wlelal|s 8
.l s |l g | A 5
2.l |2 |B |C
3. | |A | ¢ c
14. I 2 A D
B | @ | € A | B
6. | g | & & | A
% ¢ |p | D |8
18 e e A |
19. | p B | B |a
n|g |8 |c A ]

J‘ﬁ:.bu.u..urizun._;ﬂ.nfuﬂw jivﬁ__f_*__:f .” ;r'?r:.‘*H« P il

rj\,fruc,;{flr.,ﬂ e Set Qb l ﬂ{dgyfuﬁ L;":*"f[E,ubjactwa& Objevtive)
{s;,ruabus}f A a2 AT Version e W/ G Versiony z.f F.uwd.;{,gw..f'_..;_.u”
A Rt e T e I Jed 3 A S ey Sgqu i E
e JuKeyt Tl uine YWabu L Srmtn ik e o e A e i kKeyi s
PREPARED & CHECKED BY

Sr.Ne Name Designation  Institution Mobile Mo, Signagures
k. I<anser A Tidy Ao, 89 ‘;u ami.:drd;c 0% - Ai/e67) __%_
2 MMeasp . Aufd T i L‘fﬁf’:’. booBiss o>

3 Medahel Mgkt GolLodipbSeppymutl . Lt
Y. Neowelled  Asgis-Rop Ggt i;%m 3h et




	0283.pdf (p.1)
	0284.pdf (p.2)
	0285.pdf (p.3)
	0287.pdf (p.4)
	0289.pdf (p.5)
	0291.pdf (p.6)
	0293.pdf (p.7)

